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QU - # / SECTION - A
TS W / Objective Type Questions

W ST 18 70 ﬁﬁ.mmﬁmwﬁmﬁvwﬁ frd & TF
Wt &1 ot grr 93 M wd fwer wt OMR vie W fufew W R

35 v &7 Fv F 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the: OMR-Sheet. Answer any

35 questions. : , 35x1=35

1 Pefafe § 3 fees go da/m ) g fand 2
mJ'I F) g (B) T F ZH3 T
(I L - (D) = g
By which of the following is sugarcane sown ?

(A) Tubers | (B) cfujﬁg of :stems

(C) Bulbs (D) Seeds

25A/12/101 | Page 3 / 40
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[Ty
Preafifea 1 ] 919 50, % wgmn A wnfrg A 2 o

(A FE | B)  wEdw R

(C) &E T (D) et wm
Which of the following is affected by SO, pollution ?
(A} Nucleus (B) Mitochondria

(C)  Chloroplast (D)  Golgi bodies

ﬁqﬁmﬁ%ﬁqamﬁéﬁﬁﬁ:ﬁaﬁ g ?

A) e 9% \@/Gﬁfﬂm
C = (D) ¥E&H

Which of the follcwing is the period between birth and death ?
(A)  Life cycle (B) Life span
(C) Birth rate (D)  Propagation

Preferfe # @ frer gl % qro wdieht Dt & faaw gt 2

(A) LH (B) FSH
(C) WrifRea D) GH
25A/12/101 | Page 4 | 40
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Sertoli cells are
controlled by which of the following hormones ?
(A)  LH
(B) FSH
(C) Prolactin (D) GH
3. ﬁ'l'l:f%ﬁaﬁ
%3 A | B TEl o wema 2
(A)  Tewigd (B) 9mT an
(C) e (D) g whreh
Which of the following cannot pass through placenta ? '
(A}  Alcohol (B)  Fatty acids
(C) Iron (D) Maternal antibodies

6. il ¥ & v 78 sl 3 Pt 1 meraet s 2 2
(A) faem N | (B) IeafEd
(C) fafawmm (D) Wi
Which of the following is an important factor in the formation of

new species ?

(A)  Isolation (B) Mutation
(C) Variation - (D) Competition
| 25A/12/101 Page 5 / 40
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7. PR & R R R a) we o (TR T

A)  wgw (B) T

€ wH (D)  df

The opening of which of the following is known as blastopqye +
(A) Gastrula (B) Morula

(C) Blastula (D) Neural
8. P 3 @ @ wh s 4 2
(&) GmT B C=g
(C) G=cC D) A=T
Which of the following is a correct pair ?
®) GurT | B) C=¢
€ G=cC ~ D) As=T

9. =3+ geshia RNA R 7

(A m-RNA (B) rRNA
(C} cRNA (D) t-RNA
25A712/101 Page 6/ 4
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Which of the following is & soluble RNA
(A)  m-RNA B rRNA
(C) oRNA (D)  ¢-RNA

10. FERiREa % A few gam @ diorg ¥ qferieres w0 @1 2
(&) R (B) wRHATH
() foea s D) @

By which of the following bonds are the nucleotides of DNA

attached ?
(A)  Hydrogen (B) Covalent
(Cy Electrovalent (D)  All of these

11, PR 3 & B e o % e € 7

(A) vl wE foaeht & v

B) TR H s
(C) wWMEE % TE IR T F WY
(D) @&l
[ 25A712/101 Page 7 / 40
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Which of the following is an example of analogous Organs 3
(A} Wings of birds and butterfly

(B)  Tail of dog and cat

(C) Wing of bat and hand of man

(D)  All of these

12, Frafafes 3 @ fems g0 sognlt 3 wom g 2 2
\{J/ﬂa)/ Wl (B). #i
(C) wa (D) (B) 3k ()2
By which of the following is water hyacinth pollinated ?

(A] Water (B) Insect
(C)] Wind _ (D) Both (B) and (C)

13. PaffrddfrminE N d N am e

A) g (B iEw
(C) om (D) A
25A/12/101 Page 8/ 4
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In which of the following are male and female flowers found o the

same plant ?

(A)  Cucumber (B) Coconut

(C)  Brinjal (D) Tomato
14, fafafea 4 & few mg w haa ) w2 2

(a) W (B) I

€ TF Jﬂfiﬁﬂﬁf

: iy .
On which of the following planets is there a possibility of life

(A) Mars o (B) Mercury

(C) Venus (D) Jupiter

15 Qi frefafiaa @ frad gafia g ?

\@/}m (B) %

(C) e (D)

25A/12/101 | © Page 9 / 40
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Which of the following is related to pomiculture 2
(A)  Silk (Bl Fruit
(C) Vegetable (D) Flower

16. fofafen & & s affufs @& % s wes d
(A) 99 (B) 4 % v
(C) == (D) 3I4H
‘Which of the following is a biotic component of ecosystem 2
(A)  Air (B)  Sunlight
(C) Water (D)  Producer
17. - ffafes #§ & 37 ol vosh 2 2
(A) e (B) IR

€ fawmm (D) fieft

Which of the following is a marine fish ?

(A) Catla (B) Mangur
(C) Hilsa (D)  Singhi
25A/12/101 Page 10/
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18. ﬁﬁ%lﬁaﬁ%ﬁ#ﬁqmmag? o
A Wit (B) R
©) e .
Which of the following is & source of quinine ?
(A)  Canabis (B) Cinchona
(€} Poppy | (D) Eucalyptus
19. FT SR ward et ot e § »
(A) 2m | B) iR
© IoEEfmEie (D) W dER ()
Where are woody lianas / climbers found ?
@) Taiga ' (B) Deciduous forest
(C}) Tropical rain forest | (D) Shrub (chaparral)
20, Freaferan 3 & R s wach it § Seatead g o & 2
(A) mm faor ®) Hew ﬁ“"‘
€ xfm O e
[ 254/12/101 | | Page 11 / 40
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Which of th r,, lowing is used to induce mutation in crop Dja: ]
@) Gammg rays (B) Alpha rays
(C) X-rays (D) Sunrays
21. ﬁqﬁmﬁﬁmmwmmﬁmh
(A) R | (B) 3=
© sy | (D) 3™

In whij ; | |
Ich of the following does vegetative propagation tak, Bis
- through tyber » |

A Gani | h
arlic (Bl  Amorphophallys -

T
& s 2,
(A)  THfas (B) Ty
(C) fash (D) wEmr
[ 25A/12/101 Page 12/ 4
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P&ﬂicula_r areg 7

(119 ]

the population found in a

(A)  Natura)
(B}  Endemic

(C) Alien
(D)  Pandemic

23. fi=fafes
ﬂaﬁ“mﬁm(ﬁ@%ﬁpﬂm%wﬁmm
@I 9far } 2
(A) 3:1 B 1:3
€ 1:2:1 D) 1:1

Which of the following represents phenotypic ratio of F, generation

in case of codominance ?
(A) 3:1 . (B 1:3
(C 1:2:1 (D) 1:1

. Frefan 3 & w9 2 ST & e 3 e & 2

(A) grEeH (B) grElsh
(C) Y=frheA (D) EHSHH
25A/12/101 Page 13 / 40
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Which of the following is related Lo the formation of RNA 1,
Y [':I‘-I'
A

(Al Translation (B)  Transcription

(C)  Replication (D) Transduction

25. Pwafafaa & @ S vt A 2 o
(A)  wsaifaan (B) et
(C) dwmrsfug (D) ufeafra
Which of the following is a pathogen of malaria ?
(A)  Plasmodium (B) Wuchereria
(C) Sacromyces (D)  Puccinia
26. f=fafea # frass gro waifies o sl &1 sy g 2 »
Ay @ o . (B)  EA A
(C) 9] I (D) & ARt

Which of the following absorbs the maximum amount of sola

energy v

(A)  Plantation (B) Cropping

(C) Growing grass (D)  Culturing algae
l"2sa/12/101 | Page 14 / 40
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27. ﬁfﬁfﬁﬂﬁ?-mmwhﬁﬁm%qﬁnq gem % ner o Aar ¥ ?
(A) @ (B) i

(€) dta (D) R

i : of
Which of the following elements is present in the centre

porphyrin ring of chlorophyll ?
(A) Iron (B) Manganesc
(C) Copper (D) Magnesium

28. Freaferfa & @ fw W § FleREe TREdE CO, 1 HITES ¥ 2

(a) C-3 (B) C-4

C) C-6 D) ¥ & oft

In which of the following plants is there phosphoenol pyruvate

receptor of CO, ?

(A) C-3 (B) Cf“
(C) C-6 (D) All of these
[25A7127101 Page 15 / 40
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29 T ¥ vvgen o) sy wn A R P
W) s @) fafr
€ fmfom (D) T B A T
What is the tendency of endosperm in gymnosperms ?
(A)  Haploid (B) Diploid
(C) - Triploid (D) - None of these
30. At & & W @ / Qu e R 2
(A) 3R | fe3
(C) ¥Ry (D) Cafyfaes e
Which of the following is a stress hormone ?
(A)  Ethylene (B) G.A3
(C) LAA.. (D) Abscisic acid

31. frefafEa 4 & ¥ i v ¥ watfe afers 22

@A) 80, (B) CO,
() fram (D) T & W
25A/12/101 Page 16
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Which of the follow; o
Wing i
Ing ig most harmful tq the nzone layer ?
i r -T-
(A) S 2
A O B) co,
(C) Freon

(D) Al of thesae

(A) I
(B) wsm

(C) dgam D) g
Which of the following is related to Kaziranga National Park ?
(A) Lion | (B) Tiger
(C) Panther (D) Rhinoceros
33. W@ ¥ Wika Jaqvea ey ¥ »
(A) 10 (B) 18
(C) 23 (D) 41

What is the number of bio-reserves in India ?

A) 10 (B) 18
(C) 23 (D) 41
@AIIQ;’IOI Page 17 / 40
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34.  Frafefen § } &7 amgvm a1 i & @ 2

(A) A (B) e

(C) Fetfew (D) RO
Which of the following fixes nitrogen ?

(A)  Anabaena (B} Ulva

(C)  Ulothrix (D) Spirogyra

35. s AR T war @ o
(A)  wifrEE B e 2 2
(B) 79 37 % ufifuferm &) a7y oar
(C) 3= $t Ffirwistt ) dre 2a1 2
(D) ¥ & & 3t w1 Fea 2
What does Cry-toxin do ?
(A)  Swelling of cells
(B)  Binding of epithelium of midgut
(C)  Lysis of intestinal cells

(D)  More than one of these

| 25A/12/101 Page 18/ 40
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36 ﬁqﬁ"%ﬂﬁﬂ&gﬁ (119
Bl
(A)  ZTEfire: AR st v 4
B et g,
(C)  rEifys;
(D)  refreifres

(B)  Double trisomic

(D)  Nullisomic

37. mﬂﬂmmm%ﬂﬁﬁmaﬁmwmt?
W o f
©) IEh | (O) i & wf T
By which of the following methods do cancer cells divide ?
(A)  Mitosis (B) Amitosis

(C}] Meiosis (D) None of these

38, Frofefiga § @ $17 AR FEA R ?

(A) UGA (B) GUA
(€) AUG (D) FHA®H

https://www.bsebstudy.com
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Which of the following is an initial codon ?
(A} UGA (@) GUA
(€) AUG (D)  All of these

39. ‘sEiEN W 1 wfiaed feam e ?
NC s (B) U
© = e o) @&l
Who coined the word "‘biulﬂgy’ ?
(A} - Aristotle (B) Gregor Mendel
(C)  Charles Darwin (D) Boveri

40. ﬁqﬁ‘vﬁﬁﬁﬂmm‘tﬁ?ﬁ?rﬁfﬁ%?

(A) Q¥ (B) S

© e | Jw/ﬂam

¥

Which of the following is related to the ‘Yellow Revolution’?

I
Page 20/

(A) Milk (B) Egg
(C) Fish (D) Oilseeds
25A/12/101
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- ﬁﬁ%mmﬁﬁﬂmﬁ‘ﬁmm%?

W ™ (B)  wefl

C
C) %= A

From which part of the plant is clove obtained ?
(A)  Flower (B) Bud
(C)  Fruit (D) Seed

42, Preffian # 3 Reww wdm o § Srgia i wn w1 w0 &

e @ ?
A) WA By wrEiEE
©) @ (D) RRHE

Which of the following is used to reduce the amount of cholesterol

in the blood ?

(A) Statin © (B) Cyclosporin

Streptokinase
(C) Lipase (D) P

[25A712/101 |
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43, fatafiza § 4 45 gf@enya &1 HT 27
(A)  geva By i
(€ o (D) THE
Which of the following is a part of the perianth ?
(A} Petal (B) Tepal
(C)  Thalamus (D) Stamen

4. W=l W Foafafig § @ - Sifde tfishia @60 2 -

(A} B i - (B) g wifi

© s e g—

Which of the following human cells is motile ?

(A)  Nerve cell (B): Cutaneous cell
(C) Eggecell (D)  Sperm cell
45. B9 4 @ 31 fem-ggem o 2
(A)  Thregal | (B)  Sorirar
(C) TN (D) 3 & ooft

| 25A/12/101

Page 2/
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(&) Anaemia

[119]

Whi _
hich of the following is a Sex-linked character 7

(B) Colourblindness

©) Baldness (D) All of these

46.  Frafafen 3§ ¥ W sHifie shamm 4 -
(A)  THNE B
(S D) ARt
Which of the following is a living fossil ?
(A) Amphioxus ' (B) Varanus
(C) Lamprey (D) Latimeria

47, et § @ #R-0 e g & e § @ A2
A} O B) CO;
(C) H, (D) N,
Which of the following gases was not present in the early period O
the earth ?
A) O, (B) CO,
© H © N,

25A/12/101 Page 23 | -
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48, Wﬁﬁﬁ%ﬁﬁmaﬁmﬂﬁmmﬁﬁﬂlt?

{114;]

A I E R py qw
(C) ®Rwoe ok #cw mBehl (D) Fwr woeh 3 R
Convergent evolution is demonstrated by which of the fn]luwing v

(A) Bacteria and protozoa (B) Ratand dog

(C)  Starfish and cuttle fish (D)  Dogfish and whale

49, ﬁﬂ%&mﬁ‘ﬁaﬂqmﬁmmmg?
(A)  HIU are
(B) Ry |
Jor” w= i v % v o g
(D) ¥ &t
Which of the following is an example of atavism ?
(A)  Curly hair
(B) Long hand
(C) A baby born with a small tail

(D) All of these

25A/12/101 - ~ Page24 /40
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50. %IWWMWM
A) - ¥
™ e (BY" gma

© &I N o o

Where are mangrove vegetation found ?

(A) Western Ghat (B) Sundarban

(C) Dehradun Valley (D) Kullu

51. Pl 4 @ ffa s sei g R 2

y/?ﬂﬂﬂ{ \_Q%J/@E‘iﬁﬂ

() mﬂﬁﬂﬁ“ ) T et

. . -::
In which of the following does secondary succession take place :

(A) ©On sand (B) In degraded forests
(C) On bare rocks (D) Newly formed ponds
Page 25
25A/12/101 g ‘
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52. F=foifes § #19 grgpp dm sk & 2
(A) e ) wfdferan
() fifEam (D) wrfeafin
Which of the following is an excellent biofertilizer
(A) Azolla (B) Marsilea
(C) | Pteridium (D) Salvinia
53, fmfifea & @ i 77 & Ry § Ageaqvl wafir d 2

CYRIL B) ¥ 3k

(C) wWEgswmarm (D) 0 @ =
Which of the following is.a significant trend in human evolution ?
(A)  Upright posture
(B) Binocular vision
(C) Increasing cranial capacity

(D) Al of these

25A/12/101 Page 26 / 40
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> mﬁﬁﬁ‘“wwmaﬂﬂm

(1191

W e aifrfa b A R ?

(A) Taguen

(B) agguzm
(C] (D) foguem
Which of

L : ba
the fﬁllawmg types of reproduction takes place in Amoe€

+ under favourable condition ?
(A)  Fragmentation (B) Multiple fission
(C) Eudding (D) Binary fission

55. . WA H YRy Y g el faenfoa B R 2

(A) WU @) @

(C) ThaTieehl (D) ® 5w A

Where does capacitation of human sperms occur ?

\w/ | Testis (B) Vagina

(C) Vas deferens (D) Female genital tract

__J 40
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56. fmafafea 1§ & feud g sygal wigal @ Brew & gwa R o
(A) T 8 e [ U
() fmn g (D) TS

Which of the following can lead to the developmeny . |

brothers ?
(A)  One zygote (B) Two zygotes
(C) Without zygote (D) Gamete

57 fratafed 3 & feas g fysrier YY) 90 ST 0§ 2
(A) Wit B (B) 30 I
(C) TH I (D) &

From which of the following do developing sperms get |

nutrition ?
(A)  Sertoli cells (B) Germinal epithilium
(C) Blood cell (D) Leydig cell
[ 25A712/101 Page 28
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58. Previeien 3 & Py e, Rigm g s g wfymifea fFa on 2

CHA (B) &, ¥

© ¥ (D) TH, AN

Who among the following propounded the terms muton, cistron

and recon ?
(A) J. Lederberg (B) W.Ingram
(C} Bateson (D) S. Benzer

59. mﬁammmﬁ@amwﬁmwm%?
(A} 9TCH T (B) T wEH
(© woe () wH A wWh
Which of the following can live at more than one place in a trophic

level of an ecosystem ?

(A) Phytoplankton (B) Zooplankton
(C) Fish (D)  All of these
| 25A/12/101 Page 29 / 40
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60. afEa % nerwahid) € ygfn =0 Bt & 2
(A) wEH (B) tER
(C) TSR (D) T | Wi T

What is the nature of mesocarp in coconut ?

(A) Hard (B) Fibrous

(C) Fleshy (D) None of these

61, Drafufea § & Reed gt %1 fafor g 8 2

(A T
(C) WP BN (D)  afda

Which of the following is responsible for formation of ,

(B) U

androecium ?

(A) Stamen (B) Pollen
(C) Pollen sac | (D) Style
62. A # g wg w1 ?
a) 46 @ 22
(€ 92 (D) 23
—
Page 30/
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S B) 22
(C) 92 D) 23
63. T X B TR ) e e ) i & 2
(A) n (B) 2n
€ 4n | O) /2

: of
Which of the following represents the basic number

chromosomes ?

@ n (B) 2n

€ 4n | | (D) n/2
64, Preffea # & ¥ Lac operon # ﬁmmqﬁﬁnmt?
(A) _ﬁﬂ? B) o=
© ym (D) ¥
wﬂich c;t_‘ the following does cn;:l;ng of p-galactosidase in lac

operon ?

(A) =z-gene (B) a-gene
(C) y-gene (D) i'EGﬂﬁ_
25A/12/101 Page 31 / 40
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65. Frafufisa § 8 ®Ya A4 g=nf@ am (sTD) B 2

(A) fasfom B) e

(A) 3t (B) I (D) T @ wd A

(C)
Which of the following is a sexually transmitted disease (STD -

(A)  Syphilis (B) Gonorrhoea

(C) Both (A} and (B) (D) None of these

6. P A fe R 0T 1 RIARRY Senfiad Jewt R am

(A)  8-HIFEhIT YA (B) 32-Ifk YW

C) T (D) TWd 4@ 8-FIfIAR YO

At which of the foﬂ-::-wi;lg stages is the embryo transferred

fallopian tube ?

32-celled embryo

(A)  8-celled embryo (B)
(C) Zygote (D) Zygote or 8-celled embry¢
25A/12/101 Page 3
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67 .
® AV ) it B 2
(A)

(119

B)  ymiwm
€ s By Aawmifierf)
Which of the following refers to the scientific study of human
population ?
(A)  Geography (B) Geology
(C) Biology (D) Demography

68. frafeaa ¥ @ wysdl i = 1 o1 3R fuffw fa 2 2

(A) HETHS (B) IS A

g | |l
(G T (D) -¥
is the colour of skin determined 1n

By which of the following means

human being ? https:ffwww.bsebstudy.com

(A) Quantitative (B) Multiple gene
(C) Qualitative (D) All of these
25A/12/101 Page 33 | ¢
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69, U # g-maemy 8 g £ 2
(A} 3 wagE) fgram B) 1 EEEA, e
by
(C) 2 wugef fwae (D) 1313‘1{:"!’#,;%%
e,

How are 8 ascospores formed in Neurospora ?
(A) 3 Mitosis (B) 1 Mitosis, 1 Meig;

(C) 2 Mitosis (D) 1 Meiosis, 1 Mitogis

70.  Wige w4 FHO AT T69 F 1 FEd F 0
(A)  uiefard (B) Hefars

(C} e (D) RIS
What is man with female characteristics called ?

(A) - Polymorph (B)  Jollymorph

(C) Gynomorph (D)  Gynandromorph

| 25A/12/101 |
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WY - g / GECTION - B

Y I wyw / Bhort Answer Type Questions

7 T 1R 20 7Y 3wy § | P 10wyt & gy # 1 wdw F T

g 3% Freifa & Jox2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions:
Each question carries 2 marks : j0 x 2=20
], WS AR ?
What is morula ?
1 +1

o g % faEl @ @t %1 3@ R

Mention any two benefits of self-pollination.
3. Sea (%mm)ﬂamwmﬂﬁ ?
What do you mean by Camouflage ?

argaaT § g i F1 ¥ HEE R ?

What is the importance of micro-organisms in research ?

“35A/12/101 |
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5.  3afik w9 A wuiafa wai & = Q) @ A1 3@ w |

Mention any two advantages of genetically modified animalg

6. faaTdhe gm s g ?

What is Klinefelter syndrome ?

7. Tl 90 "ot & AW 6 I AW F @y ol L,
Write the names of any four spices along with their scients.
names.

8. e o wreeH § Q4 = ford| {1
Writ.e two differences between ontogeny and phyllogeny.

9. ﬁﬁ%ﬂaqﬁﬁmﬁ:ﬁmﬁrm%ﬁl 141

Write any two symptoms of sickle cell anaemia.

10, YA IvEAFE ?

What are sacred groves ?
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11.

I TR ot aen Q sere R

Define commensalism and write two examples.

mwhﬁ“ﬁﬁmaﬂtﬁﬂmﬁ%mﬂﬁﬁl

1+l

12.
' and one
What are pathogens ? Write the names of any one
animal pathogens.
13, e ®t TR
Define germplasm.’
{4, TRemERd w2
What is Gene library ?
15. a@ﬁ#ﬁ#ﬂtﬁ*ﬁﬁﬂﬁzﬁﬁﬁl
Menti.r:m any two harmful effects of sewage.
16, AEHREA TR
".What is mycorrhiza ?
17. © gmiﬁ 1 1 AEE 8 ?
What is the ;mpurtancc of Red Dafa Book ?
25A/12/101 | Page 37740
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[]'_.r

18. fireft wa st § #rf @ s o

Write any two differences between integument and testg

19. oDNA 3t s-DNA & # @ a1=r we il

Explain any two differences between ¢-DNA and s-DNA,

20. qﬁeﬁﬂwt?.

What is epistasis ?
did IaiT W9 / Long Answer Type Questions

oy WEAT 21 #zsa?#am?rrm#fﬁﬁe?sm#akmi | BRI & fiy
s st Pt &1 swT afvwas 120 =i 7 §7 ARTI 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Anstwer an

3 questions. Each question carries 5 marks. Give your answer in abo

3x5=1I
120 words.
' ‘ Bk
21. Tﬁmﬁmwmﬁi?ﬁﬁm%m@sﬁﬁm
] +2+1
#
. fior
What do you understand by ground water ? Describe the causes
its depletion and remedies. |
__.——""Eﬁ
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22.

23.

24,

!"l]r-)!

farafeiftag %a\'ﬁmmqﬁ, 2} + 2}

@ S T g
(b) mm@m
© 3 RS v sy i

Explain the differences between any two of the following :

. (a) Food chain and food web

(b)  Primary producer and Secondary producer

(c) Aestivation and Hibernation.

T T 3 3 W T G T T AR STE TR

Present a neat, clean and well labelled diagram of embryo inside

human uterus.
wRat # fom Prafor 1 v 1w =X

Describe the process of sex-determination in honeybees,
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25. e AT R T G T A 3T e

Present a well labelled neat and clean diagram of recompip,

technology.

06, Ad-TEEiEwT 1 WiEH 9UH HU

Describe biofortification in brief.
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